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Probléme :
1. Cours
2. n ∧ m = 1
3. ϕn

a. Facile
b. Facile
c. CardG = nm

4. Par recurrence.
5. α,βk

= αk,βk = 1,1  αk
= 1,βk

= 1  oa/k,ob/k  oa ∨ ob/k
6. car oa ≤ n et ob ≤ m.
7. G cyclique

 ∃α,β ∈ G/G =< α,β >⇒ CardG = oα,β ⇒ nm = oa ∨ ob ≤ n ∨ m ⇒ n ∧

a. Card〈ωn,ωm〉 = oωn ∨ oωm = n ∨ m = nm = CardG

b. α,β engendre G ⇔< α,β >= G ⇔ oα,β = CardG  oa ∨ ob = nm 
oa = n,ob = m car oa ≤ n,ob ≤ m

c. D’apres b
Exercice : Facile


